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1.  If a quadrilateral has one pair of sides that are both 

parallel and congruent, then the quadrilateral is a 

parallelogram. 

 

2. Opposite sides of a parallelogram are congruent. 

 

 

 

3. Opposite angles of a parallelogram are congruent. 

 

                  75° 

             

                        75° 

 

4. Consecutive pairs of angles of a parallelogram are supplementary. 

 

                                    95° 

 

       85° 

 

5. In a parallelogram either diagonal separates the parallelogram into two congruent triangles. 

 

 

 

6. The diagonals of a parallelogram bisect each other. 

 

 

 

7. A quadrilateral is a parallelogram if any one of the following is true: 

 Opposite sides are congruent. 

 Opposite angles are congruent. 

 Diagonals bisect each other. 
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8. The diagonals of a rhombus bisect the four angles 

     of the rhombus. 

 

 

9. The diagonals of a rhombus are perpendicular to each other. 

 

10.  The diagonals of a rectangle are congruent. 

 

 

11. The lower (and upper) base angles of an isosceles trapezoid are congruent. 

 

 

 

12. The diagonals of an isosceles trapezoid are congruent. 

 

13.   A trapezoid is an isosceles trapezoid if any one of the following is true: 

 The legs are congruent. 

 The base angles are congruent. 

 The diagonals are congruent. 

 

14. The median of a trapezoid is parallel to the bases and has a length equal to one half the sum of 

the lengths of the bases.  

 𝑀𝑒𝑑𝑖𝑎𝑛 𝑜𝑓 𝑎 𝑇𝑟𝑎𝑝𝑒𝑧𝑜𝑖𝑑 =
1

2
(𝑏1 + 𝑏2) 

 

15. The area of a rhombus is equal to one half the product of the lengths of the diagonals.                           

𝐴𝑟𝑒𝑎 𝑜𝑓 𝑎 𝑅ℎ𝑜𝑚𝑏𝑢𝑠 =
1

2
(𝑑1 × 𝑑2) 

 

16. The area of a parallelogram is equal to the product of the length of the base and the altitude 

drawn to that base.  

𝐴𝑟𝑒𝑎 𝑜𝑓 𝑎 𝑝𝑎𝑟𝑎𝑙𝑙𝑒𝑙𝑜𝑔𝑟𝑎𝑚 = 𝐴𝑙𝑡𝑖𝑡𝑢𝑑𝑒 𝑥 𝐵𝑎𝑠𝑒 

 

17. The area of a trapezoid is equal to one half the product of the length of an altitude and the sum 

of the lengths of the bases. 

𝐴𝑟𝑒𝑎 𝑜𝑓 𝑎 𝑇𝑟𝑎𝑝𝑒𝑧𝑜𝑖𝑑 =
1

2
ℎ(𝑏1 + 𝑏2) 

 


